
21.1.2021                                                                    Mild 

LO To use the inverse (opposite) to check answers 

4.  Elliot has 21 smelly stickers. He also has some non-smelly stickers. In total he has  
     45 stickers. How many non-smell stickers does he have?  ______ 
 
 
5.  Alessia got 34 presents for Christmas. However, she lost some. Now she only has 
15 presents. How many did she lose? _____ 
 
 
6.  Amelie got £40 pocket money last year. This year she was also  given some more 
pocket money.  
Now she has £93 altogether. How much money did she get this year? _______ 

 
 1) 10   +   ?  =  25                     2.) 28   -   ?  =  10           3)   ?   +   11  =  31 
 
       ____  -  ____ = ?                  ____  -  ____ = ?                 ____  -  ____  = ?                          

Challenge 
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LO To use the inverse (opposite) to check answers 



21.1.2021                                                                    Hot 

LO To use the inverse (opposite) to check answers 


